14’

(2) EFFEER EHEE
OB LHRE (SO2: FEffE)

1EFREDY | BEHEN HEHEHMN004| BEHEDEL
£ | A E 0.1ppmZi#8 | 0.04ppmZ% 10 | BESE | pomZzBA-B | BEHEICELSH
= YE A Tl | A7-FMEL | Bx-B% | #E o ND2% | H2HL LEH] F9EH0.04ppm
AT HBIE B B&Xi BIEE2] & M EZDEIE | LZEDEIE | BElE BRIME | LI-CEFEE | ZHA-BH
EIDRXRD
=] R ppm | BEfE| % H % ppm ppm 58 H
EEEESR 97 i* 357 8582 0.003 0 0.0 0 0.0 0.039 0.007 i3 0
B 97 = 337 8195 0.002 0 0.0 0 0.0 0.029 0.005 i 0
R
HE R R R 97 * 364 8692 0.004 0 0.0 0 0.0 0.046 0.010 i3 0
EEERAER 97 £ 310 7669 0.002 0 0.0 0 0.0 0.024 0.006 i3 0
KEBINER 97-2 i* 336 8120 0.002 0 0.0 0 0.0 0.034 0.005 i3 0
BE™ |BEmiIKEELE]| 97-2 5] 357 8540 0.002 0 0.0 0 0.0 0.041 0.005 i 0
HMEAREE 97-2 #HET 363 8654 0.003 0 0.0 0 0.0 0.032 0.008 i3 0
= 5RAT | BEOKYEYS- 100 £ 339 8228 0.003 0 0.0 0 0.0 0.049 0.007 i 0
- HERER 100 * 348 8366 0.001 0 0.0 0 0.0 0.050 0.005 i3 0
H
SRR 100 * 340 8260 0.004 0 0.0 0 0.0 0.037 0.007 i 0
I TH HHEE 100 * 364 8699 0.005 0 0.0 0 0.0 0.035 0.007 i3 0
ERET | HEMBHER 97 * 336 8134 0.002 0 0.0 0 0.0 0.087 0.009 i 0
Myh | AHBHE 100 £ 350 8461 0.002 0 0.0 0 0.0 0.041 0.005 Eiii 0
BEEEt 2 100 * 364 8725 0.004 0 0.0 0 0.0 0.020 0.009 i3 0
- B BEMIEAT 100 T 364 8717 0.003 0 0.0 0 0.0 0.016 0.006 i3 0
=y
AERR 100 2] 360 8675 0.003 0 0.0 0 0.0 0.022 0.006 i 0
E=FIN=E=35 100 * 362 8710 0.001 0 0.0 0 0.0 0.027 0.004 i3 0
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QO—BILER, —BHIELERRUERRILHM(NO, NO2, NO+NO2: FR{E)

— 2R (NO) ZHRIEER (NO,) EXRBIEYH(NO+NO,)
1EFFEMEAY | 1ESRIMEAY | B F9EH | B EHEH 98%fE
2 (A = 1ERE | BEME|F o (A % 1B§FE | 0.20pm%iE | 0.1ppmbl L | 0.06ppmZ 0.04ppmLl H BFt9{E | FFMEICKD A HE 157 | BF9MED FiyiE
EhES EHE| E O 2] FEHE| fE O | Zf-FRE%| 0.200mUT | BA-BH 0.06ppmAT| D BEHEN FEHE| ED )
A RER g | AEE%| B H BEiE| 98%lE |MEB% | M BEE | L205E | OBMY | LZ0EE | OB%E [98%iE | 006ppmz | BIEBLK | BRI REfE| 98%fE |NO2 /(NO+NO2)
HEIDEH LZDEE ZOEE Ba-B%

=] B | (opm) | (ppm) |  (ppm) 2] B | ppm ppm B[ % |BR| % | B | % [B| % ppm =] B B | (ppm) | (ppm) (ppm) (%)
EREEESK 97 *® 269 6839 | 0.001 0.025 0.005 269 6839 | 0.003 0.023 0 0.0 0 0.0 0 0.0 0 0.0 0.007 0 269 6839 | 0.005 0.039 0.009 713
B 97 1% 344 8274 0.001 0.018 0.003 344 8274 0.005 0.070 0 0.0 0 0.0 0 0.0 0 0.0 0.012 0 344 8274 | 0.005 0.083 0.015 89.7

ERE T
HERE R 2 PR 97 ES 312 7713 | 0.003 0.060 0.009 312 7713 | 0.008 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.017 0 312 7713 | 0.011 0.093 0.025 73.9
EEFREHR 97 1 345 8281 0.001 0.020 0.003 345 8281 0.007 0.060 0 0.0 0 0.0 0 0.0 0 0.0 0.017 0 345 8281 0.007 0.060 0.018 88.8
REBINFR 97-2 *® 345 8287 | 0.001 0.043 0.003 345 8287 | 0.006 0.063 0 0.0 0 0.0 0 0.0 0 0.0 0.012 0 345 8287 | 0.007 0.083 0.014 91.0
BA™ | BEfiIRELSE 97-2 5] 337 8222 0.002 0.079 0.007 337 8222 0.007 0.063 0 0.0 0 0.0 0 0.0 0 0.0 0.016 0 337 8222 | 0.009 0.127 0.021 733
HMEARE 97-2 #ET 358 8591 0.004 0.076 0.011 358 8591 0.010 0.071 0 0.0 0 0.0 0 0.0 0 0.0 0.025 0 358 8591 | 0.014 0.136 0.033 74.7
SHRET | BEOWEYI- 100 1 361 8677 0.002 0.067 0.007 361 8677 0.005 0.027 0 0.0 0 0.0 0 0.0 0 0.0 0.010 0 361 8677 | 0.007 0.094 0.015 69.7
AR ERT 100 *® 355 8588 | 0.003 0.048 0.010 355 8588 | 0.005 0.031 0 0.0 0 0.0 0 0.0 0 0.0 0.010 0 355 8588 | 0.009 0.071 0.018 63.2

B
SHIR/NEER 100 1x 252 6064 0.005 0.037 0.015 252 6064 0.007 0.039 0 0.0 0 0.0 0 0.0 0 0.0 0.016 0 252 6064 | 0.012 0.073 0.020 56.1
Ry MA=E 100 ES 360 8623 | 0.004 0.087 0.015 360 8623 | 0.007 0.052 0 0.0 0 0.0 0 0.0 0 0.0 0.016 0 360 8623 | 0.011 0.127 0.028 66.5
ERE T HERBHR 97 1 350 8466 0.018 0.158 0.043 350 8466 0.012 0.085 0 0.0 0 0.0 0 0.0 0 0.0 0.020 0 350 8466 | 0.030 0.194 0.060 38.9
Ry BB 100 *® 347 8358 | 0.022 0.220 0.050 347 8358 | 0.010 0.033 0 0.0 0 0.0 0 0.0 0 0.0 0.018 0 347 8358 | 0.032 0.242 0.064 325
BEEEE S 100 * 364 8729 0.001 0.037 0.004 364 8729 0.007 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.015 0 364 8729 | 0.009 0.072 0.019 84.7
BERIEMRAR 100 #ET 362 8708 | 0.002 0.046 0.004 362 8708 | 0.005 0.050 0 0.0 0 0.0 0 0.0 0 0.0 0.010 0 362 8708 | 0.007 0.075 0.014 721
BIa%kR 100 51 364 8728 0.003 0.071 0.009 364 8728 0.009 0.046 0 0.0 0 0.0 0 0.0 0 0.0 0.019 0 364 8728 | 0.013 0.110 0.027 75.3

HT
ETRERHR 100 1= 352 8494 | 0.014 0.140 0.029 352 8494 | 0.017 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.029 0 352 8494 | 0.031 0.189 0.050 55.8
HEBEER 100 5] 362 8708 0.020 0.205 0.044 362 8708 0.018 0.073 0 0.0 0 0.0 0 0.0 0 0.0 0.030 0 362 8708 | 0.038 0.230 0.068 480
ES=PN=E:=] 100 364 8728 | 0.008 0.095 0.017 364 8728 | 0.010 0.039 0 0.0 0 0.0 0 0.0 0 0.0 0.017 0 364 8728 | 0.018 0.108 0.032 55.4




o7

Q@HALFEAFH UL (OX: ERHE)

R0 18RS R 18RS BrEDH
B [ |BREAE| BRED1 fEH 0.06ppm fEAY 0.12ppm RE1E | =S8
=l R E D #BZ-A% INEXOY=E ] fE |/ ED
HETH BIER i ihis BEBH| B B|FHIE & B[ & B B ] e fE|FHE
EIDRD
=] =] ppm =] e =] B Rl ppm ppm
EEEESHR 97 = 359 5233 0.033 101 488 0 0 0.106 0.048
R B H g 97 Lk 332 4818 0.034 101 551 0 0 0.114 0.048
HERE R 2R 97 * 364 5301 0.031 75 498 0 0 0.099 0.044
REBINER 97-2 F 365 5310 0.036 139 903 0 0 0.110 0.052
BEmH
HEAREE 97-2 T 365 5331 0.033 117 731 0 0 0.110 0.050
= SRET BEIYtys- 100 =* 365 5386 0.038 128 762 0 0 0.104 0.054
" HERERT 100 = 365 5379 0.033 75 377 0 0 0.097 0.047
HE™
SHEINEER 100 =* 365 5423 0.036 85 438 0 0 0.093 0.049
R HEaE 100 P S 358 5270 0.029 55 229 0 0 0.104 0.045
===l 100 5] 365 5418 0.029 71 398 0 0 0.096 0.044
=107
£B/MEHRE 100 * 362 5373 0.026 45 171 0 0 0.110 0.042
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LT

@FEHFIRYE (SPM: ER1BE)

1ERED HEHEL HEHEA0.10 REBEEEDEY
F @ A =E 0.20mg/m3% &8 | 0.10mg/m3% | 185[E | BHEH{E | me/m3ZHBZ1=H RUEEEIC LS E
N E TEifE | =R BA-E¥® | 0| 0D2% MN2B UL LES | FHEA0.10mg/m3
T ET#t BIER A&RXE |AEE%] B M EFDEE EZTDEE | BREE | & 5 B Lf-CEDEE #BA2-B%
FIDREH
B B ] mg/m3 | B [E % A % mg/m3 | mg/m3 -8 A
FEREMREERT 97 *x 362 8652 0.020 0 0.0 0 0.0 0.182 0.046 = 0
R
HEREF SR 97 * 307 7517 0.018 0 0.0 0 0.0 0.112 0.046 = 0
HmR BmMiKELE 97-2 [ 359 8602 0.024 0 0.0 0 0.0 0.152 0.054 = 0
= RET #EIY 48— 100 = 346 8261 0.022 0 0.0 0 0.0 0.163 0.049 = 0
" BERER 100 = 363 8676 0.023 0 0.0 0 0.0 0.110 0.048 = 0
BHE™
RN 100 * 271 6604 0.018 0 0.0 0 0.0 0.106 0.044 = 0
My MPEE 100 = 363 8679 0.033 0 0.0 0 0.0 0.187 0.063 = 0
R HiERE B R 97 * 360 8634 0.033 0 0.0 1 0.3 0.195 0.069 = 0
My MY BEHE 100 = 359 8622 0.036 0 0.0 0 0.0 0.175 0.065 = 0
BEEEtE 2 100 * 364 8732 0.028 0 0.0 0 0.0 0.145 0.056 i 0
BHIRBERAT 100 #T 358 8620 0.021 0 0.0 0 0.0 0.132 0.052 = 0
pegeal 100 [ 360 8629 0.032 0 0.0 0 0.0 0.139 0.058 = 0
=40
ETHEEHR 100 =F 357 8582 0.029 0 0.0 0 0.0 0.164 0.055 = 0
EEEEER 100 [ 364 8729 0.032 0 0.0 0 0.0 0.134 0.071 = 0
=A=RIN=E: 35 100 *x 354 8518 0.023 0 0.0 0 0.0 0.178 0.048 = 0
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8T

O—BILRER (CO: FRHIE)

SEFfIfEA | BEHEN BEHEMNI0 [REEEDORY 1HHEN
5 | Ax 20 ppm & 10ppm & | 1B5FE | BFEE | ppmZEB A=A |MIEHEIZKLS B| 30ppmEl L&
SRIE Tl | BAEH | BA-B8 | E O | 02% | A28 L EES | E9EMN10pom| Hof-Z&
TETH BER A&t [BIEBE3 B EZDEIE | LZDEIE | REE | B E | LI-CEOFE | #82-8% | "H5EH
EIDRH
=] B | eom | B | % | B | % ppm ppm "R =] B
R FEEBEHS 97 x 336 8070 05 0 0.0 0.0 3.0 0.8 Eid 0

B MAEBEHR 100 *F 361 8658 05 0 0.0 0 0.0 25 0.9 i3 0 0
BTEEEHR 100 £ 345 8276 0.6 0 0.0 0 0.0 3.0 1.1 i1 0 0
=0 HEBEHS 100 [} 356 8632 0.6 0 0.0 0 0.0 3.4 0.9 i3 0 0
£H/NBHB 100 x 360 8615 0.7 0 0.0 0 0.0 1.9 1.0 i1 0 0
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O A2 ik KFTE (NMHC: FE R {E)

B oE 6~9F | 6~9F 6 ~ 9 B 6~ O 3R T (k| 6~ ORF SRR Tt {E

EiE | 2HH5 | Bl F | SEM FE Y E | H0.200pmCEREZ Tz | H0.31ppmCEREZ 1=

SRIE B THE| B % | &eE REE | BHEZTOEES|BHETOEE

TETA BER ik

FEIDRXR B ppmC ppmC =] ppmC ppmC =] % =] %
R ERERIERT 97 * 8119 0.11 0.10 332 0.34 0.00 10 3.0 1 0.3
B REB/IDER 97-2 £ 7618 0.06 0.07 304 0.38 0.00 2 0.7 1 0.3
R FEEBHS 97 £ 7072 0.19 0.23 284 1.59 0.09 149 52.5 35 12.3
I MBS 100 £ 8252 0.16 0.21 345 0.63 0.02 145 420 68 19.7
aTEEEHR 100 £ 8547 0.16 0.15 355 0.41 0.02 58 16.3 4 1.1
= EhH EEEEHE 100 2] 8351 0.17 0.19 340 0.64 0.04 128 376 27 7.9
£B/NEHR 100 *x 7900 0.17 0.16 323 0.97 0.05 18 5.6 10 3.1

67T
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0¢

DA B UL RIE/KE (CHE, THC: E£RHE)

A" CH, 2mxib/KE

BIE 6~9K |6~9K| 6 ~ 9B |B =E 6~9KF |6~90K| 6 ~ 9 B

BrWilE EHE| I2EFS| B E 3 B¥ fA EHE|I2HFS| B F 3 B

ilES] BIE R Fikihis | BFRE EHE | B # EH{E B R TEHE|BR EH{E
FIDXR ReiE RIEE xeiE xRIEE
B¥fE | ppmC | ppmC =] ppmC | ppmC | B | ppmC | ppmC =] ppmC | ppmC
SERE T FERE R B2PRT 97 * 8119 | 1.81 1.83 332 2.30 166 | 8119 | 1.92 1.93 332 2.45 1.73
HRT | REB/NER 97-2 iF 7618 | 1.81 1.82 304 2.01 163 | 7618 | 1.87 1.88 304 2.28 1.64
FERE T FERBHER 97 % 7072 | 1.91 1.92 284 2.12 162 | 7072 | 2.10 2.16 284 3.63 1.84
#ME A EHER 100 3 8252 | 1.95 2.07 345 2.71 173 | 8252 | 2.11 2.28 345 3.26 1.76
STFHEEHR 100 3 8547 | 1.90 1.97 355 2.41 169 | 8547 | 205 212 355 2.82 1.76
=00 HEBEHER 100 4] 8351 | 1.88 1.93 340 2.40 1.65 | 8351 2.05 2.11 340 3.00 1.74
cA=RN=E:35] 100 S 7900 | 1.87 1.91 323 2.19 1.70 | 7900 | 2.04 2.07 323 3.17 1.81
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